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In the following exercises, find d‘A‘ and d'%‘—: and evaluate each at the indicated value O

1. x=3t and y=41+l t=2 2. x=+t and y=4r-1 t=1
T, - o Y o3 i

3. x=2¢r-2 and y=t -4 1=1 4 x=2cost and y=2sint r=I
! r — >~ g 3 . 8 T

5. x=+1t and y=+t-1 t=2 6. x=cos’t and y=sin't I=I

In the following 2 exercises, find the equation of the tangent line at the indicated points on the curve.

-~

7. x=
tan

and y=2sin"0 at (3\3%) at (2.1)

8. x=—4cos@ andy=3+2sinf at (—2,3+ \5)

In the following exercises, find all points of horizontal and vertical tangency to the curve.

9 x=2-t and y=t 10. x=t+4 and y=1t'4+3t
11. x=8cos’@ and y=4sinf 12. x=20 and y= 2(1 —cosO)
13. x=t*+1-2 and y=r-3¢ 14, x=2cosf@ and y=2sin26

Find the arc length of the given curve on the indicated interval. Calculators permitted on 15 and 16.
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15 x=1" and y=4r£-1 [-L]] 16. x=vr and y=3-1 [L2]



17. x=e'cost and y=e"sint [0%]

19. The path of a projectile 1s modeled by the equations x = (IOOCOS 30°)t and y= (lOOsin 30°)t -16¢°

where x and y are measured in feet. Graph the path of the projectile and use the integration capabilities
of the calculator to approximate the arc length of the path and the difference between the arc length
and the range of the projectile.
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2 ; ; < .
20. Given the parametnic equations X = T and y= Ty .t 20, sketch it on your calculator.
5 +1 ;

a) Determine what values of 7 give a horizontal tangent.

b) Approximate the arc length of the closed loop. Set up the integral and use your calculator appropriately

21. Find the area of the surface generated by revolving the curve about the given axes. Use calculator on a).

xr=7 and y=8-4s [0..2] " xr=06cosf and p=6siné. [O%]

a)
1) r—axis 1) y —axis 1) ¥ —axis i1) ¥ — axis
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